Solving Money Problems Using
Bar Models

1. Aima has £35. She has all £5 notes. How many notes does she have?

£35

2. Dan has 14 5ps. How much money does he have altogether?

?

op

3. Alfie has £1.40. All his coins are 10ps. How many 10ps does he have?

£1.40

4. Dan has 16 2ps. How many coins does he have altogether?

?

2p

5. Annie spent 58p on a notepad. She has 34p left. How much did she have
to begin with?

58p 34p
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Solving Money Problems Using Bar Models

6. Leanne bought a comic for 65p. Alice bought one for 83p. How much more
did Alice’s cost?

83p

65p ?

7. Ben's comic cost 32p more than Zac's. If Zac's comic cost 52p, how much
did Ben's comic cost?

52p 32p

8. Hari buys 2 ice creams. He has £6 left. How much did he have to
begin with?

? -
£6
£2
9. Pens come in packets of 5. 10. Ben buys a comic and some
How much does 1 pen cost? stickers with his £1 pocket money.

How much does he have left?

60p

£1

Page 2 of 2




Solving Money Problems
Using Bar Models Answers

1. Aima has £35. She has all £5 notes. How many notes does she have?
7

£35
£5 £5 £5 £5 £5 £5 £5

2. Dan has 14 5ps. How much money does he have altogether?
70p

S5p | S5p | 5p | 5p | S5p | S5p | 5p | 5p | Sp | Sp | 5p | 5p | 5p | 5p

3. Alfie has £1.40. All his coins are 10ps. How many 10ps does he have?
14

£1.40
10p | 10p |10p (10p |10p |10p | 10p (10p | 10p |10p|10p | 10p|(10p | 10p

4. Dan has 16 2ps. How many coins does he have altogether?
32p

2p | 2p (2p | 2p |2p (2p |2p |2p | 2p | 2p |2p | 2p | 2p | 2p | 2p | 2p

5. Annie spent 58p on a notepad. She has 34p left. How much did she have
to begin with?
92p

92p
58p 34p
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Solving Money Problems Using Bar Models Answers

6. Leanne bought a comic for 65p. Alice bought one for 83p. How much more
did Alice’s cost?
18p

83p

65p 18p

7. Ben's comic cost 32p more than Zac's. If Zac's comic cost 52p, how much
did Ben's comic cost?
84p

84p

52p 32p

8. Hari buys 2 ice creams. He has £6 left. How much did he have to

begin with?
£10
£10
£2 £2 £6 £2
9. Pens come in packets of 5. 10. Ben buys a comic and some
How much does 1 pen cost? stickers with his £1 pocket money.
How much does he have left?
60p

£1

12p | 12p | 12p | 12p | 12p
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Solving Money Problems Using
Bar Models

1. Aima has £35. She has all £5 notes. How many notes does she have?

£35

2. Dan has 14 5ps. How much money does he have altogether?

?

3. Alfie has £1.40. All his coins are 10ps. How many 10ps does he have?

£1.40

4. Dan has 16 2ps. How many coins does he have altogether?

5. Annie spent 58p on a notepad. She has 34p left. How much did she have
to begin with?
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Solving Money Problems Using Bar Models

6. Leanne bought a comic for 65p. Alice bought one for 83p. How much more
did Alice’s cost?

83p

65p ?

7. Ben's comic cost 32p more than Zac's. If Zac's comic cost 52p, how much
did Ben's comic cost?

52p 32p

8. Hari buys 2 ice creams. He has £6 left. How much did he have to
begin with?

?
£2
9. Pens come in packets of 5. 10. Ben buys a comic and some
How much does 1 pen cost? stickers with his £1 pocket money.

How much does he have left?

25p 14p ?
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Solving Money Problems
Using Bar Models Answers

1. Aima has £35. She has all £5 notes. How many notes does she have?
7

£35
£5 £5 £5 £5 £5 £5 £5

2. Dan has 14 5ps. How much money does he have altogether?
70p

Sp (S5p | 5p | S5p | 5p | Sp | Sp | 5p | Sp |Sp|5p | Sp | 5p | 5p

3. Alfie has £1.40. All his coins are 10ps. How many 10ps does he have?
14

£1.40
10p (10p (10p |(10p | 10p |10p |10p (10p (10p|10p|10p |10p |10p | 10p

4, Dan has 16 2ps. How many coins does he have altogether?
32p

2p (2p |2p |2p (2p |2p |2p|(2p |2p|2p |2p |2p |2p | 2p | 2p | 2p

5. Annie spent 58p on a notepad. She has 34p left. How much did she have
to begin with?
92p

92p
58p 34p
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Solving Money Problems Using Bar Models Answers

6. Leanne bought a comic for 65p. Alice bought one for 83p. How much more
did Alice’s cost?

83p
65p 18p

7. Ben's comic cost 32p more than Zac's. If Zac's comic cost 52p, how much
did Ben's comic cost?

84p
52p 32p

8. Hari buys 2 ice creams. He has £6 left. How much did he have to
begin with?

£10
£2 £2 £6
£2
9. Pens come in packets of 5. 10. Ben buys a comic and some
How much does 1 pen cost? stickers with his £1 pocket money.

How much does he have left?
60p

12p | 12p | 12p | 12p | 12p

£1
25p 14p 61p
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Solving Money Problems Using
Bar Models

1. Aima has £35. She has all £5 notes. How many notes does she have?

2. Dan has 14 5ps. How much money does he have altogether?

3. Alfie has £1.40. All his coins are 10ps. How many 10ps does he have?

4. Dan has 26p. He has all 2ps. How many coins does he have altogether?

5. Leanne bought a comic for 65p. Alice bought one for 83p. How much more
did Alice’s cost?
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Solving Money Problems Using Bar Models

6. Ben's comic cost 32p more than Zac's. If Zac's comic cost 52p, how much
did Ben's comic cost?

7. Hari buys 2 ice creams. He has £6 left. £2
How much did he have to begin with?

8. Pens come in packets of 5.
How much does 1 pen cost?

9. Ben buys a comic and some stickers
with his £1 pocket money. How much
does he have left?

w * * * Page 2 of 2 visit twinkl.com




Solving Money Problems
Using Bar Models Answers

1. Aima has £35. She has all £5 notes. How many notes does she have?
7

£35
£5 £5 £5 £5 £5 £5 £5

2. Dan has 14 5ps. How much money does he have altogether?
70p

S5p | S5p | 5p | 5p | S5p | S5p | 5p | 5p | Sp | Sp | 5p | 5p | 5p | 5p

3. Alfie has £1.40. All his coins are 10ps. How many 10ps does he have?
14

£1.40
10p (10p (10p |(10p | 10p |10p |10p (10p (10p|10p|10p |10p |10p | 10p

4. Dan has 26p. He has all 2ps. How many coins does he have altogether?
13

2p | 2p | 2p(2p |2p|2p(2p |2p|2p|(2p|2p|2p|2p|2p |2p | 2p

5. Leanne bought a comic for 65p. Alice bought one for 83p. How much more
did Alice’s cost?
18p

83p
65p 18p
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Solving Money Problems Using Bar Models Answers

6. Ben's comic cost 32p more than Zac's. If Zac's comic cost 52p, how much
did Ben's comic cost?
84p

84p

52p 32p

7. Hari buys 2 ice creams. He has £6 left.
How much did he have to begin with?
£10

£2

£10

£2 £2 £6

8. Pens come in packets of 5. How much does 1 pen cost?
12p

60p
12p 12p 12p 12p 12p

9. Ben buys a comic and some stickers with
his £1 pocket money. How much does he
have left?
61p

£1
25p 14p 61p
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